EAGRAROBREERT — 2 N— ABISH —F

2019512731680 (A) 8EKIR5H

KW C 2+ 5 %—M ECEE R
[AE4£] 17 :200,000"  23#%&:52,000”  33%&:28,000M . 437:20,000MH . 573%&:10,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
DS # 3 | HER 1:25.0 2-2-2-1 | 40.5| — 1 464 | ZFHEE (KR)
1lglg|V>¥7> 54.0 =) 9 | W) 7TI>F
LNn—ErTv— BALYTa—L4 (B) HAI-FRL—-va>BaEI7
R LA :25. -1-1- 9| - SREBLHE (2
2 6 bt 1a— k % 3 i 1(225)3 1-1-1-2 | 40.9 2 (4_342) EEEIIEE
LNy vy —Ib B:T7U-YF7a—-h 1EE B35
s it 5 | BAM 1:25.5 6-5-5-3 |39.7| — 3 451 | =F=@ (KiR)
3 4 g /€867 5E4.0 (3/4) -6) %) 77T 7
L:drp—3U7> B:TFa-—> N> T =g
5 = = # 5 | EERE 1:25.7 3-3-3-5 |40.0| — 5 474 | BB (BERE)
4|5|5 T7—FITAX 56.0 (1 1/4) -2) KEEET
L:77NMTZT Bixv L NXF47 BRESH /-¥rL—-227
. BAARISTE 125, —4-4— . — ZHEE (KiR)
ERREYYEDE: i 3 I 1(215)9 5-4-4-4 | 40.2 4 (4_623) ﬁméy
LTIWTFNTL2 BioA T 1= HEHERS
S A 4 3 | AtFIE 1:26.9 8-6-6-6 |40.5| — 9 432 | HERAN (BER)
EE 2| F=T2 =t 56.0 ®) 43 | @) TESORO
LR AOT7 BIXF e BE
. = ROE— : -8-7- - HEEFE (KR)
718l o | 7H*VUHEHS it 5 & 1.(247).6 7-8-7-7 | 41.0 8 (4_259) na 7
L:TAUHLKRZ BFTITUZR J—RH—F
N o4 | BERRE 1:27.8 8-8-9-9 |40.8| — 7 479 | FEFE (KR
sfg] 3| hF-N 6.0 (1 172) () | KHRE (1)
L:T7RIL Y L—> B4 FTFTLZR H—L— - JvX> - T7—LARS
. 411 | BAHE 1:27.8 3-7-8-8 |41.2| — 6 468 | ZHEF (KR)
9|7 7|7V MFUA~ 6.0 7€) G | @) wavx=
R:Hg—T— B:bhy T80 [Ii]mEye]
@ I—F—@EBIERL
|3=7r= 6,8,(5,7),1,4,9,(2,3)
23—7— |6,8,51,4,2,7,(3,9)
3T—7— 6,8,5,1,4,2,9,7,3
41—F— 8,6,4,1,5,2,9,7,3
[ N
B 8 130M 794K 6-8 130 & 6-8 320M &R 4-6-8 250
# B 8 100/ 4-8 150M B E 6-8 270M EE 8-6-4 680M
6 110 4-6 220M B H 8-6 380M
4 110M

ARICOVWTRDTEEERROODE. TR LI,




